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1) Let A={x ] xisaeveninteger, -1=x<4}
B ={x| X Is a negative integer greater than -5} and C = {-5,2, 4}

Then (AUB) N C =

A) {2

B) {-51,2}
C) {-52
D) {42}

E) {4

2) The number of rational numbers in the set

[77 (1-43P, 314, 332, 6, 0B 1.23345}

l 22 T 427
A) 6
B) 5
c) 3
D) 4
E) 2
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5., 3
3) If |22 Y =2 then n=
n 1 2
3 3 y
\ X y J
A) 5
B) 3
Cc) -4
D) -3
E) 4

9 (B -2)(B +235 + )=

A) -5
B) 11
C) 5
D) 2
E) 4
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4 4 4
5) Let x>0 and y>0. If 3xy y32xy0-4+2x3yl0 =2xy™ y2xy" , then

m+n=
A) 4
B) 3
c) 2
D) 1
E) 5

6) 9 _2l '§_ 6.1_
5

A) 10
B) -22
C) 22
D) 74
E) -74
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7) If -3<x<-1, then ||'2X|'2|X ‘2||
4x +4 ‘
1
A) X +1
2
B
) X +1
2
C) X +1
D) -1
E) 1

8) Let A= 0.0000021,B=200000,andC=28.4x10-". If % = 5X10°3,
then n =
A) 5
B) 4
C) -6
D) -4
E) 6
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9)

10)

If

A)

B)

C)

D)

E)

x<y , then

-1

Xy

FIRST MAJOR
OCTOBER 11, 2022

X-y —

\/x2 - 2xy t y2
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The coefficient of x* in the expression (2 - x2)°- (2 + x2)(2 - x?) | is

A)

B)

C)

D)

E)

12



MATHO001
TERM 221

FIRST MAJOR
OCTOBER 11, 2022

11) One factorof y3-x2y + x2- y2 |is

12)

A)

B)

C)

D)

E)

A)

B)

C)

D)

E)

y+X

X -y+1
X -y-1
xy -1

X +y+1

1 1

(L+x)%- x2@a+xd ?_

3

(1+x2) ?

1+ x2

2 + x2
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) -2 3Y-2
X - X
13) |2 _Sy} =
X"~y
1
A)
X2y2
B) - —
Xy
1
c) -
X2y2
D) L
Xy
E) - Xy
2
1) gp XEOXHI0 L X4 o X*A ey gep=
X2+ 2x - 3 x-1 X+b
A) 7
B) 2
c) -2
D) 3
E) -3
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15) Let M be the midpoint of the line segment A(- 2,1) and B(-8,-3). The
distance between the point M and (-2, 3) is given by

A) 5
B) 3
c)y 4
D) 2
E) 6

16) If x2 + y2+2x+dy+1=0 isthe equation of the circle that has center

(- 1,a) inthe second quadrant and tangent to both axes, then a+ d=

A) -1
B) 2
c) 4
D) 1
E) -2
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17)  The product of the x-intercepts of the graph of the quation

(x—1)2+ y2 =2 is

A -1
B) 2
c) -2
D) -3
E) 1

3

18) The solution set of the equation 4x4 +32=0 contains

A) no real solution.

B) a positive integer.

C) a negative integer.

D) a positive irrational number.

E) one positive and one negative integer.
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19)

20)

Which one of the following is NOT a polynomial ?

A)

B)

C)

D)

E)

TIX

1.2
12 +3
2X X

\/7

2X -3

5

x2+ |x| + 1
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Which one of the following is TRUE ?

A)

B)

C)

D)

E)

-X=-x ;x<0

(x+y)°=x3+ 3
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The sum of two irrational numbers is an irrational number

\/;:

1
Xty

1
X

+

1
y

10



Answer Key
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A
2) A
3 A
4 A
5) A
6) A
7 A
8) A
9 A
100 A
11) A
12) A
13) A
14) A
15) A
16) A
17) A
18) A
19) A
20) A

11



